
正負の数 乗法１ (Pr.No.112C)

Ⅰ．次の計算をしなさい。
①（＋２）×（＋３）
②（－４）×（＋２）
③（＋３）×（－１）
④（＋５）×（＋７）
⑤（－２）×（＋３）
⑥（－４）×（－２）
⑦（－３）×（－８）
⑧（＋５）×（＋７）
⑨（＋５）×（－２）
⑩（＋２）×（－５）

⑪（－７）×（＋４）
⑫（－４）×（＋７）
⑬（＋９）×（－２）
⑭（＋２）×（－９）
⑮（－８）×（＋５）
⑯（－１）×（＋６）
⑰（＋１）×（＋２）
⑱（－１）×（－２）
⑲（－１）×（＋２）
⑳（＋１）×（－２）

Ⅱ．次の計算をしなさい。
①（＋８）×（－７）
②（－６）×（＋９）
③（＋３）×（－８）
④（－６）×（＋７）
⑤（－４）×（－６）
⑥（－７）×（＋２）
⑦（－９）×（＋８）
⑧（＋５）×（－７）
⑨（＋７）×（－４）
⑩（＋８）×（＋３）

⑪（－７）×（＋６）
⑫（－９）×（－５）
⑬（＋９）×（－１）
⑭（＋４）×（＋９）
⑮（－８）×（＋８）
⑯（－８）×（＋６）
⑰（＋９）×（＋９）
⑱（－９）×（－９）
⑲（－９）×（＋９）
⑳（＋９）×（－９）

Ⅲ．次の計算をしなさい。
①（＋２）×（－７）
②（－４）×（＋９）
③（＋６）×（－８）
④（－６）×（＋３）
⑤（－４）×（－１）
⑥（－７）×（＋５）
⑦（－３）×（＋８）
⑧（＋１）×（－７）
⑨（＋１）×（－４）
⑩（＋８）×（＋５）

⑪（－７）×（＋１）
⑫（－９）×（－４）
⑬（＋８）×（－１）
⑭（＋６）×（＋９）
⑮（－５）×（＋８）
⑯（－７）×（＋６）
⑰（＋５）×（＋９）
⑱（－４）×（－９）
⑲（－２）×（＋９）
⑳（＋１）×（－９）

正負の数 乗法２ (Pr.No.112D)

Ⅰ．次の計算をしなさい。
①（－１５）×０
②（＋１９）×０
③０×（－１８）
④０×（＋１４）
⑤（－２８）×１
⑥１×（＋１２）
⑦（＋１１）×（－１）
⑧（－１３）×（－１）
⑨（－１）×（＋９）
⑩（－１）×（－３０）

⑪（－１５）×９
⑫（－１５）×（＋９）
⑬ １３×（－８）
⑭ １４×（－１）
⑮（－８）×（＋１６）
⑯（－１４）×（＋７）
⑰（＋１１）×９
⑱ －１３×（－７）
⑲（－１８）×１
⑳ １９×（－４）

Ⅱ．次の計算をしなさい。
①（＋８）×５
② ９×（＋１０）
③ ７×８
④（＋１５）×７
⑤（－９）×（－５）
⑥ －８×（－５）
⑦（－１４）×（－６）
⑧ －７×（－１６）
⑨（＋１２）×（－８）
⑩（＋１２）×（－５）

⑪ ２×（＋４）
⑫ ４×（－３）
⑬（＋３）×６
⑭ ５×７
⑮（－２）×（－４）
⑯（－３）×（－７）
⑰（－３）×４
⑱（－２５）×０
⑲ ５×（－６）
⑳（＋２）×（－９）

Ⅲ次の計算をしなさい。
① －７×６
②（－６）×７
③ ９×（－２０）
④ ２×（－９０）
⑤（－８）×（－９）

⑥（－１）×（＋６５）
⑦ １０×（－９）
⑧（－１）×（－９２）
⑨（－４）×（＋３）
⑩ １×（－８２）



正負の数 乗法３ (Pr.No.112E)

Ⅰ．次の計算をしなさい。
①（－５）×（＋４）×（－２）
② －９×（－５）×２
③（－１０）×９×３
④ ２×（－８）×５×３
⑤ ７×（－５）×０×２
⑥（－１）×（－１）
⑦（＋２）×（－３）×５
⑧（－４）×５×（－２）

Ⅱ．次の計算をしなさい。
①(＋３)×(－１)×(＋１)×(＋２)
②(＋５)×(＋７)×(－１)×(－２)
③(－２)×(＋３)×(－８)×(＋５)
④(－４)×(－２)×(－１)×(＋２)
⑤(－３)×(－８)×(＋９)×(－２)
⑥(＋５)×(＋７)×(－７)×(＋４)
⑦(＋５)×(－２)×(＋２)×(－５)
⑧(－７)×(－３)×(－２)×(－５)

Ⅲ．次の計算をしなさい。
①(＋４)２

②(－４)２

③ －４２

④ ４２

⑤(＋５)２

⑥(－５)２

⑦ －５２

⑧ ５２

⑨(＋４)３

⑩(－４)３

Ⅳ．次の計算をしなさい。
① －４３

② ４３

③(－７)２

④－(－７)２

⑤(－３２)×(－２)３

⑥(－４)２×(－５)
⑦(－２)２×(－１０)３

⑧(－１)８

⑨(－１)１９×(＋１)２７

⑩(－５)２×(－２)２


